———BFRF

28 4=

FA P & A B B ) &

5. 3/6Fcie AL BIR R FLp ¥

ok

P IE PR TR EIT

-

P

2 # 376p (&E#H-) 3P TP (E¥-)
a2 8:10-8:50 8:10-8:35

o1 =

v e LRFG V)

2= 9:00-9:50 8:45-9:45

7FL 2 v iE B

2= 10:00-10:30 10:00-10:45

ﬁﬂ. E] B 363 B 3'{3

R 10:30-11:40 11:00-11:40
= [F B L B2
T R 12:55-13:40 12:55-13:35

# B py py

2= 13:45-14:35 13:35-14:35

ﬁ 2 F = Je jL

2= 14:45-15:30 14:45-15:30

# B p oy py

2= 15:55-16:35 15:55-16:35
B bk

LAY PRLAIREDT ARZIAEPY 2 7RBRE P b BN E R B3 adFf

BoiRSAcg b kLB AR ERER A b Ry o
o3 QB VAT < BepEs FRETIHE Es R EFRCEXFFE L 0 doITEHA S
2 oo
x‘&z@%%i%\ﬁa \&gxﬁﬁyﬁ LURMIEE e - AR ES AT RS
3’:_ Lo Bl * 2B4RE ;R Foad e & 2 33 R) ¢ https://reurl. cc/XV8NpD -
mzimﬁﬁq%ﬁykﬁé%ﬁym$wFﬂﬁﬁ’F§ EEIEBSAAFEFIRES -

YT ERFIEGRE 3/ TakiSART ¥+




